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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. Teme Tayey 94 gyAIs W ArHie Afardq: fad |

Candidate must write first his / her Roll No. on the question

paper compulsorily.
2. WHTA W aifad § |
All the questions are compulsory.

3. WU ¥ 1 3T Il 8 I Rk H 21 ford |

Write the answer to each question in the given answer-book

only.
4. 99 9ol ° it @oe €, 39 94 & S T WY g foad |

For questions having more than one part, the answers to those

parts are to be written together in continuity.
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5. U UF o fe<l 9 HAUSH ®UX H fordl ghR &t Afe / FR / foienvmg
M W 5= w1 & 9vF 1 g ued AW

If there is any error / difference / contradiction in Hindi and
English versions of the question paper, the question of Hindi

version should be treated valid.

6. W@US o HE 3 Y Ue
A 1-10 1
B 11-15 2
C 16 - 25 3
D 26 - 30 6
Part Question Nos. Marks per question
A 1-10 1
B 11-15 2
C 16 - 25 3
D 26 - 30 6

7. U HHIR 289 30 H Al faweq § |
There are internal choices in Question Nos. 28 and 30.

8. AU I YRETeRT o Toi & Sl IR faf@u | afc 1 % & &4 3,
ql SW-gfedert & Afam gl W A AR 3= Tt areal 9 Fes 39 W
‘T e fea ©

Write on both sides of the pages of your answer-book. If any

rough work is to be done, do it on last pages of the answer-book

and cross with slant lines and write ‘Rough Work’ on them.
9. U HHI% 26 1 @IS U YR T FAEY |

Draw the graph of Question No. 26 on graph paper.
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TWE-A
PART - A

T 44 3 99 &1 HETH HUAA® ( H.C.F. ) J1d Hifsd |
Find the H.C.F. of numbers 44 and 99.

7 UfEe 91 599 A qoF 29%o0 § | THH! serTioNdg €9 H fafew |

Total price of 7 pencils and 5 pens is Rs. 29. Write it down in the

algebraic form.
=R 941 2, 7, 12, ... HT 119 I I HIfsd |
Find the eleventh term of the A.P. 2, 7, 12, ...... .

39 fog & fcerisr 9 wifsE, st fageil (- 1,7) 3R (4,-3) FSE Al 2
: 3% oTUrd H fawfsd #xar € |

Find the coordinates of the point which divides the join of points

(-1,7)and (4, — 3 )in the ratio 2 : 3.
fag (7. - 3) =l y-3181 9 W fafed |

Write down the distance of the point ( 7, — 3 ) from y-axis.

g Tk fog P 0 &= 9Tt fovdll 990 W PA 91 PB T Y@ &R 80°
I YT Feh! Bl, Al £ POA I J1d Hifd |

If tangents PA and PB from a point P to a circle with centre O are

inclined to each other at an angle of 80°, then find £ POA.
I Teh o< i T5oF1 14 WA B, ol < 1 &5l JA1d IS |

If the radius of a circle is 14 cm, then find the area of the circle.
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8.  7-5YH Y@ WUE &I 2 : 3 Iqurd H fawifsra wifsd | e fas sAd |

Divide the line segment of 7-5 cm in the ratio of 2 : 3. Draw figure only.

9. T r o 90 & U Fra Ge o v oivi § 0 €, o T =9 T AT
%1 g3 fafed |

Radius of the circle is r and 0 is the angle of the sector in degree. Write

down the formula of length of corresponding arc.
10.  fordl SN ot Wit YREweh SISt shi Wiigenaiet 1 = fafe |

Write down the sum of the probabilities of all the elementary events of

an experiment.
©E-B
PART - B

11. af€ AABCH DE||BC%®, AD = 1-5 9#l; BD = 39l 991 AE = 1 9 g1, @I

EC J1d Hhifs |

If DE || BC in A ABC, AD = 1'5 cm, BD = 3 cm and AE = 1 cm, then

find EC.

12. g sinA=% Bl, d1 cos A 3T cosec A JTd HifTd |

3
If sinA = 5 - then find cos A and cosec A.
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tan 65°
13. ol 25° ?ﬂﬂ'ﬂaﬁaﬁﬁa |

. tan 65°
Find the value of ot 25° -

14. sin 35° cos 55° + cos 35° sin 55° 1 A JTd hifST |

Find the value of sin 35° cos 55° + cos 35° sin 55°.

15. 19t =9 arelt 8 Y ol dfsl i B HI Teh U dISE ol 18 Hl oIl Teh

A & &9 § @i a1 ( &l Sar € ) | dR i AR 14 Sifsd |

A copper rod of diameter 1 cm and length 8 cm is drawn into a wire of

length 18 m of uniform thickness. Find the thickness of the wire.

W -C
PART - C

16. 39 98 ¥ 9 ¥AIHS YUl 1 T1d hifed St 396, 436 3R 542 w1 fawfsa
FH F AT TS HHIA: 5, 11 3 15 T@dm T |

Find the highest positive integer by which dividing the numbers 396,

436 and 542 remainders are 5, 11 and 15 respectively.

17. x3 —3x2 +3x -5 x -1 - x2 ¥ 9 fey R faursq wemfien =t
AT I S9 HITSA |

Divide x3 — 3x2 + 3x —= 5 by x - 1 — x2 , and verify the division

algorithm.
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18.

19.

20.

21.

6
W A 1985 H 5,000 Fo & IS oad T HTd IRE fhan oiR g ad

200 %o i 9a9 gfg U &1 | frd a9 § IFehT 9@ 7,000 Fo T T ?

Suresh started work in 1985 at an annual salary of Rs. 5,000 and
received an increment of Rs. 200 each year. In which year did his

income reach Rs. 7,000 ?
IfE tan 2A = cot (A — 18° )81 2A T =H HI0 T, A A T HH A1d Hifsd |

If tan 2A = cot (A — 18° ), where 2A is an acute angle, then find the

value of A.

Toh 9Had STHH R TS HAR &1 S 39 feafa § 40 /e sifys @it g1 St
¥ wafer gd #1 SAw 60° ¥ HeHY 30° Tl OWM@N ¥ | HAR H HE A
SIS |

The shadow of a tower standing on a plane ground is found to be 40 m
longer when the sun’s altitude reduces to 30° from 60°. Find the

height of the tower.

fag FIfST o T = forg @ 99 W Gt T et Y@l i awergal ske) gidt
g |
Prove that the lengths of tangents drawn from an external point to the

circle are equal.
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22.

23.

24.

25.

7

59, 69t X 7 I qeed 9Tel Uk A Ft A Hife R R T o
st &1 T it forent oo weord st 1 wra qene w1 L T gl

I & Ug faf@m |

Construct a triangle with sides 5 cm, 6 cm and 7 cm and then another

triangle whose sides are % times of the corresponding sides of the

first triangle. Write down steps of construction.

4G4t =31 9Tl T g9 & IW Frsu@ve &1 A% J1d FiteE, e o 60°
T 1wy 7 Gd <" frsaEe 7 e | 91d it |

(7 = 3-14 1 YA &L ).

Find the area of the sector of a circle with radius 4 cm and of angle

60°. Also find the area of the corresponding major sector.
(Use 7 =3-14).

4-2 9H Forsa1 9Tet |1 o Tk Tiel ! Taerarehs 7 At 531 amel T a9 & &9
T TTeT ST & | Sl hil SIS TTd HITST |

A metallic sphere of radius 4-2 cm is melted and recast into the shape

of a cylinder of radius 7 cm. Find the height of the cylinder.

fordl SO 12 @d U9, 132 37=8 UA1 § fHel MU § | haed @Y I8 &1 eardn
ST Hehdl € Toh IS T WUE € A=D1 T | 36 U § 9, T U9 Ig=san fahren
ST & | T9hTet T U9 T SToST B4 hi Wifdehdl J1d ShifT |

12 defective pens are accidentally mixed with 132 good ones. It is not
possible to just look at a pen and tell whether it is defective or not.
One pen is taken out at random from this lot. Determine the

probability that the pen taken out is a good one.
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WE-D
PART - D
26. fohohe IU & Th S 7 Th vcanl 3R 27 300 %o H WS | o€ | TH &I
Y & AT 2 dcdd 91 3T 525 Fo H WUl | 39 feafq =1 sismfordg w9 o
I hited Td 9h! UhT fafy ¥ ga sifew | 98 ff 9 =ifse i == &
Foell a7 Teh Tig fohaq €941 § @I Th ?

Coach of a cricket team buys one bat and 2 balls for Rs. 300. Later he
buys another 2 bats and 3 balls of the same kind for Rs. 525.
Represent this situation algebraically and solve it by graphical method.
Also find out that how much money coach will pay for the purchase of

one bat and one ball.

27. 13 i M ATcl T TR e i IREMAT & Toh forg T T @1 30 TR
M & 5 39 W & Tk =@ & I o1 fogeil W 59 Wwieshi A 3R BH
#I g o1 SR 7 HIRT @ | UE R g § 2 afe ®, @ S wieshl o
forat gl W @ meA ¥ ?

A pole has to be erected at a point on the boundary of a circular park
of diameter 13 metres in such a way that the difference of its distances
from two diametrically opposite fixed gates A and B on the boundary is
7 metres. Is it possible to do so ? If yes, at what distances from the two

gates should the pole be erected ?
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28. Afc fwdl HIYsl =1 T Y & Fa=R 3= Q1 el i fym-fom fogati «

T w0 & T T T g o, @ fag Ff fE S o @ et T @
srurd # fawnfera gt € |

S PE

g FAf o5 1t forelt Fogt 1 W g 1 &= Q) et 3 i ¥ A ¥
SRISR B, A Tgedl ol 1 TG I THHTO SiaT § |

If a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points then prove that the two sides are divided in

the same ratio.
OR

Prove that in a triangle, if square of one side is equal to the sum of the
squares of the other two sides, then the angle opposite the first side is

aright angle.

29. ¥WI A(0,-1),B(2, 1) 3R C(0,3) 3 YT ABC &t il & q&A-
fogatl | o4 ol S1YS 1 &57hel [1d SifSd | 39 &%l 1 fqu gy 5y
ABC & &9%d o 919 ST 91 Hitsd |

Find the area of the triangle formed by joining the mid-points of the
sides of the triangle ABC whose vertices are A (0,-1),B(2,1)and

C (0, 3). Find the ratio of this area to the area of the triangle ABC.
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30. TS S o\ Wi 100 Wiferdt ¥Rl &1 o & seq & fefafed iws I

FHAT ® | HIEAH I URRfad it A aiferst shaa 3=1 Afwal ol & St
¥, foment ey 18 99 =1 3TH @ifurss &1 g 60 91 ¥ A T |

JMg( T H ) TifeTHT SRt ahl TE&T
209 ®H 2
259 &H 6
309 ®H 24
359 %A 45
409 ®H 78
459 &H 89
50§ &H 92
559 &Y 98
60§ &H 100

areran

Tiforg <kt ek qien W 30 faenfoiE gry ura fohw U sfenl w1 s fefafaa

UIdieh! Rt ot 10-25 | 25-40 | 40-55 | 55-70 | 70-85 | 85-100
IATA
ferenfoliai =t g 2 3 7 6 6 6

T ARl I wicad A fafy & wrer Fma FIfSE @ agas of 919 HIfST |

S—09—Maths.




11

A Life Insurance agent found the following data for distribution of ages
of 100 policy holders. Calculate the median age, if policies are given

only to persons having age 18 years onwards but less than 60 years.

Age (in years ) Number of policy holders
Below 20 2
Below 25 6
Below 30 24
Below 35 45
Below 40 78
Below 45 89
Below 50 92
Below 55 98
Below 60 100

OR

The marks distribution of 30 students in a mathematics examination

are as follows :

Class-interval 10-25 25-40 40-55 55-70 70-85 | 85-100
of marks
Number of 2 3 7 6 6 6
students

Find the mean by assume mean method and find also the mode of

given data.
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